


i




A

1217N
1217F




1217N B25 1,2m’ - min. 48H

524

=,
N
i

20

B25 /|| Wz zianis “ | M i °

75

.......................

300

150
T

(=7 'f,fff,ff:_f.ffffff.fff.fi..'fff].,fffiff

75
3.

130 130




1217N

1

64

130

Ay

188
173

28

72

163

min. 48H

219 113

40

110

212

76

35 |25

232

109

202




	1
	Widok rysunku320
	Widok rysunku321

	2
	Widok rysunku325
	Widok rysunku326

	3
	Widok rysunku322
	Widok rysunku323

	4
	Widok rysunku330
	Widok rysunku331
	Widok szczegółów Y (1 : 20)
	Widok rysunku333
	Widok rysunku334
	Widok rysunku335

	5
	Widok rysunku336
	Widok rysunku339
	Widok rysunku340
	Widok rysunku341
	Widok rysunku342
	Widok rysunku343
	Widok rysunku344
	Widok rysunku345


